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Income Tax Final Response
Answer the following questions using the current U.S. progressive income tax schedule. Show all calculations when necessary.

	Marginal Tax Rate
	Single
	Married Filing Jointly

	10%
	$0 - $8,000
	$0 - $16,000

	15%
	$8,001 - $30,000
	$16,001 - $60,000

	25%
	$30,001 - $75,000
	$60,001 - $120,000

	28%
	$75,001 - $150,000
	$120,001 - $190,000

	33%
	$150,001 - $330,000
	$190,001 - $330,000

	35%
	$330,001 +
	$330,001 +


1) What is the marginal tax rate for a single person who earns $50,000 per year?

2) Calculate the total tax for a single person with this salary. Show work.

3) What is this individual’s effective tax rate? Show work, and round your answer to the nearest tenth of a percent.

4) Explain why this individual’s effective tax rate is different than his/her marginal tax rate. 

5) How are effective tax rates related to an individual’s salary? Be as specific as possible. In your discussion, give me example numbers to illustrate how somebody’s salary determines their effective tax rate.

6) Do you think it is fair for the government to take different percentages of income from different people? Why or why not? Why might someone disagree with you on this issue? How would you respond to their arguments? Be as specific as possible. You may cite details from the handouts from this unit.
